Det Let
$$(r_{i})_{n,i}$$
 is a sequence of complex humbers.

$$\sum_{n=0}^{\infty} x^{i} is a[form(1)] parer series.$$

$$s_{n}(z) = \sum_{n=0}^{\infty} a_{n}^{2} z^{n} = 44h partial sum, a polynomial:
(commut. Let for some - 170, $(1a_{n})^{-1}$) it bounded.
Ther for any z with liters $5a_{n}z^{n}$ converges
(here were, if $x' z_{n}$, then the series, converges uniformly
 $a_{n} = 13(0, r^{i})$.
(here were, if $x' z_{n}$, then the series, converges uniformly
 $a_{n} = 13(0, r^{i})$.
(here were, if $x' z_{n}$, then the series, converges
(here were, if $x' z_{n}$, then the series z_{n}^{n} , r_{2})
Proof. When $|z| e_{n}^{n}$, $|a_{n}z^{n}| e_{n}e_{n}^{n}| f_{r}^{i}|^{n} = Cr^{n}$
 $\sum C(\frac{r}{r})^{i} z_{n}^{i}$, $|a_{n}z^{n}| e_{n}z^{n}| e_{n}z^{n}| f_{r}^{i}|^{n} = Cr^{n}$
Note:: $[1a_{1}m(1-1) e_{n}z^{n}] e_{n}z^{n}| e_{n}z^{n}| e_{n}z^{n}| e_{n}z^{n}|$
 $\sum a_{n}z^{n} diverge (1a_{n}z^{n}| z_{n}z^{n}) e_{n}z^{n}| e_{n}z^{n}|$
Theorem. For any power series $\sum z_{n}z^{n}| e_{n}z^{n}|$
 $Resurpt r: the sequence $(1a_{n}|r_{n}| z_{n}z^{n})$ for
 $a_{n}z^{n} diverges$ for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverges for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverges for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverges for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverges for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverges for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $2) Sa_{n}z^{n} diverge for any $i_{2} > R$.
 $3 = 1\pi Ka_{1}$ (Covershim for this formula: $\frac{1}{2} = m$, $\frac{1}{2} = 0$]$$$$$$$$$$$$$$$$$$$$



Proof.

$$P = \frac{1}{11 \times 10^{10} \text{ fm}_{1}} = \frac{1}{11 \times 10^{10} \text{ fm}_{1}} = (=) \exists a < 1, N : n > N = \frac{1}{10^{10} \text{ fm}_{1}} = \frac{1}{11 \times 10^{10} \text{ fm}_{1}} = SO(r^{10} | a_1|) \text{ is bounded},$$

$$So r \leq R \Rightarrow R \Rightarrow \frac{1}{11 \times 10^{10} \text{ fm}_{1}} = SO(r^{10} | a_1| \le M = 2) = r^{10} | a_1| \le M = 2)$$

$$Tim r Van = 1 \text{ in } M^{10} = 1. So r \le \frac{1}{100 \text{ fm}_{1}} = \frac{1}{100} \text{ fm}_{1}^{10} = \frac{1}$$

 $\frac{\lim m m q^{n} = 0 \quad \text{it } q < 1}{\Pr oot} \quad q = \frac{1}{1+s}, \quad s > 0$

$$\lim_{h \to \infty} h|a_{h}|r^{h} = \lim_{h \to \infty} h|a|r^{*}_{o} \cdot \frac{r^{*}_{h}}{r^{*}_{o}} = \lim_{h \to \infty} |d_{h}|r^{*}_{o} \cdot \lim_{h \to \infty} \frac{|r|_{h}}{r^{*}_{o}} = 0$$

So $V \leq R_{1}$, So we have: $V \leq R \Rightarrow V \leq R_{1} \Rightarrow R \Rightarrow R \Rightarrow R \Rightarrow R$.

$$\begin{split} & \left\{ (z) = \sum_{k=0}^{\infty} a_{k} 2^{k} = \sum_{k=0}^{k} a_{k} 2^{k} + \sum_{k=0}^{\infty} a_{k} 2^{k} = S_{k}(2) + R_{k}(2), \\ & t_{1}(z) := \sum_{k=1}^{\infty} n a_{k} 2^{k-1} - S_{k}'(2) - nth \text{ partial sum for } f_{1}, \\ & Let - (z), |z_{0}| \geq k < R \\ & \frac{t(z) - t(2)}{2 - 2_{0}} - f_{1}(2_{0}) = \left| \sum_{k=0}^{N} \frac{(z) - S_{k}(z_{0})}{2 - 2_{0}} - S_{k}'(2_{0}) \right| + \frac{1}{12} \\ & - \frac{R_{n}(z) - R_{n}(2)}{2 - 2_{0}} - \frac{1}{2} \left| \sum_{k=0}^{\infty} \frac{a_{k}(z^{k} - z_{k}^{k})}{2 - 2_{0}} \right| \leq \sum_{k=0}^{\infty} \left| \frac{Lewma}{2} \sum_{k=0}^{\infty} |a_{k}| kr^{k-1} - \frac{New}{2} - \frac{1}{2} \sum_{k=0}^{\infty} \frac{a_{k}(z^{k} - z_{k}^{k})}{2 - 2_{0}} \right| \leq \sum_{k=0}^{\infty} \left| \frac{R_{n}(z) - R_{n}(2)}{2 - 2_{0}} - \frac{1}{2} \sum_{k=0}^{\infty} \left| \frac{R_{n}(z) - R_{n}(2)}{2 - 2_{0}} - \frac{1}{2} \sum_{k=0}^{\infty} \left| \frac{R_{n}(z) - R_{n}(2)}{2 - 2_{0}} - \frac{1}{2} \sum_{k=0}^{\infty} \frac{R_{n}(z) - R_{n}(z_{0})}{2} - \frac{1}{2} \sum_{k=0}^{\infty} \left| \frac{R_{n}(z) - R_{n}(z_{0})} - \frac{1}{2} \sum_{k=0}$$

$$\int 0 \quad n q^n < \frac{2^n}{n(n-1)S^2} - \frac{2}{S^2(n-1)} = 0$$

 $\frac{1.16}{1.16} \frac{1}{1.16} \frac{1}{9} = \frac{1}{1.16} \frac{1}{1.$

$$\frac{C \operatorname{orol}(\operatorname{arg}(\operatorname{Taylor}) \Xi a_n z^n \text{ is infinitely differentiable}}{\operatorname{for} [2] < R,}$$

$$f^{(k)}(z) = \sum_{n=n}^{k} \frac{n!}{(n-k)!} a_n z^{n-k}$$

$$a_n = \frac{f^{(n)}(0)}{n!}$$



Brook Taylor

$\frac{Proof}{I}, \qquad Induction. \qquad Plag in t=0.$